Quelle est votre enchére en Sud ?

1) Sud Quest Nord Est
AaR8742 1% Passe
vD82 14 Passe 2v Passe
¢+ R62 ?

& 82

2) Sud Ouest Nord Est
AaR985 1% Passe
vR842 e Passe 2¢ Passe
¢85
«V72

3) Sud Quest Nord Est
A AR852 1% Passe
vR842 18 Passe 2v Passe
¢85 2
*42

4) Sud Quest Nord Est
AaADV 1 Passe 1e Passe
vR872 2v Passe 2SA Passe
+9 ?

«AR982

5) Sud Quest Nord Est
aADV 1 Passe 1e Passe
vR872 2v Passe 2SA Passe
+9 ?

«ARDS82

6) Sud Quest Nord Est
aA7 1 Passe 148 Passe
vADS85 2v Passe 2SA Passe
* 4 ?

«ARDS862

7) Sud Quest Nord Est
AaV8732 1% Passe
vD987 14 Passe 2v Passe
¢D7 ? Passe 3% Passe
%98 ?

8) Sud Quest Nord Est
ARV86 1% Passe
v92 14 Passe 2v Passe
9832 ?

&«A52




